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Solving Formulas 

Definition of a Formula 

A formula is an equation that contains more than one variable. 

To solve a formula means to isolate one of the variables on one side. 

Some Examples of Formulas 

𝐴 =
ℎ

2
ሺ𝑎 + 𝑏ሻ,               𝐷 = 𝑅𝑇,             𝐶 =

5

9
ሺ𝐹 − 32ሻ 

 

Examples of Solving Formulas 

Solve the formula for 𝑅. 

𝐷 = 𝑅𝑇 

Solution 

 

Divide both sides by 𝑇. 

𝐷

𝑇
=

𝑅𝑇

𝑇
 

Cancel 𝑇 on the right side. 

𝐷

𝑇
= 𝑅 

or 

𝑅 =
𝐷

𝑇
 

Solve the formula for 𝑊. 

𝑃 = 2𝐿 + 2𝑊 

Solution 

Subtract 2𝐿 from both sides. 

𝑃 = 2𝐿 + 2𝑊 

−2𝐿   − 2𝐿                

𝑃 − 2𝐿 = 2𝑊 

Divide both sides by 2. 

𝑃 − 2𝐿

2
=

2𝑊

2
 

𝑊 =
𝑃 − 2𝐿

2
 

or  

𝑊 =
𝑃

2
− 𝐿 
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Solve the formula for 𝑅. 

1

𝑅
=

1

𝑅1
+

1

𝑅2
 

Solution 

 

Multiply both sides  

by the least common denominator 𝑅𝑅1𝑅2. 

𝑅𝑅1𝑅2 (
1

𝑅
) = (

1

𝑅1
+

1

𝑅2
) 𝑅𝑅1𝑅2 

𝑅1𝑅2 = 𝑅𝑅2 + 𝑅𝑅1 

 

On the right side, factor out 𝑅. 

𝑅1𝑅2 = 𝑅ሺ𝑅2 + 𝑅1ሻ 

 

Divide both sides by 𝑅2 + 𝑅1  

𝑅1𝑅2

𝑅2 + 𝑅1
=

𝑅ሺ𝑅2 + 𝑅1ሻ

𝑅2 + 𝑅1
 

 

Cancel 𝑅2 + 𝑅1 on the right side. 

𝑅1𝑅2

𝑅2 + 𝑅1
= 𝑅 

or 

𝑅 =
𝑅1𝑅2

𝑅1 + 𝑅2
 

 

Solve the formula for 𝑆. 

𝑆 =
𝐶

1 − 𝑟
 

Solution 

 

Multiply both sides  

by the least common denominator 1 − 𝑟. 

ሺ1 − 𝑟ሻ𝑆 =
𝐶

1 − 𝑟
ሺ1 − 𝑟ሻ 

 

Cancel 1 − 𝑟 on the right side. 

ሺ1 − 𝑟ሻ𝑆 = 𝐶 

 

Divide both sides by 1 − 𝑟 . 

ሺ1 − 𝑟ሻ𝑆

1 − 𝑟
=

𝐶

1 − 𝑟
 

 

Cancel 1 − 𝑟 on the left side. 

𝑆 =
𝐶

1 − 𝑟
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Solve the formula for 𝑡. 

𝐴 = 𝑃ሺ1 + 𝑟𝑡ሻ 

Solution 

 

Use the distributive property on the right side  

to remove the parentheses. 

𝐴 = 𝑃 + 𝑃𝑟𝑡 

Subtract 𝑃 from both sides. 

𝐴 = 𝑃 + 𝑃𝑟𝑡 

−𝑃  − 𝑃                

𝐴 − 𝑃 = 𝑃𝑟𝑡 

Divide both sides by 𝑃𝑟. 

𝐴 − 𝑃

𝑃𝑟
=

𝑃𝑟𝑡

𝑃𝑟
 

 

Cancel 𝑃𝑟 on the right side. 

𝐴 − 𝑃

𝑃𝑟
= 𝑡 

or 

𝑡 =
𝐴 − 𝑃

𝑃𝑟
 

 

Solve the formula for 𝑟. 

𝐶 = 𝜋𝑟2 

Solution 

 

Divide both sides by 𝜋. 

𝐶

𝜋
=

𝜋𝑟2

𝜋
 

Cancel 𝜋 on the right side. 

𝐶

𝜋
= 𝑟2 

Take the square root on both sides. 

√
𝐶

𝜋
= √𝑟2 

√
𝐶

𝜋
= 𝑟 

or 

𝑟 = √
𝐶

𝜋
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